DU MPhil Phd in Political Science

Topic:- DU_J18_MPHIL_PS

1) Which of the following is true for Locke’s conception of the Social Contract?

ol & WS Tmeite & fHgia & ey F fefafad o & oo €
[Question ID = 376]

AT St CaRTh, T8, i, weifas 3R gifvie 3

[Option ID = 1501]

arfeis THgltd i weurlt Te g8y F 3 % flgld & ufd e €

1. Poor, Nasty, Brutish, and Short

2. The participants in the Social Contract are disinterested in each other’s conception of the good

1502]
iy il BT N :‘ff [Option ID = 1504]
. T B AT WIS B, FOB Ao womst &) AT ST (o400 1 = 1503

[Option ID =

3. The political sovereign is not a party to the contract.

4. It creates first the Civil Society and then the Political Socief

Correct Answer :-
« It creates first the Civil Society and then the Political Society.ag TEo ATE | IZET,ﬁT! Tor-ffees Wttt i ST [Option ID = 1503]

2) Which one of the following did not find its origin from Prakrit language?

THefeif&d & & fHuaT 3ad Uehd HIeT & 8l g31 22

[Question ID = 381]

1. Sanskrit / : [Option ID = 1523]

2. pali ) W [Option 1D = 1521]

3. Apabhramsha / oA [Option ID = 1522]

4. Ardha- Magadhi /3-|T'-f— T [Option ID = 1524]
Correct Answer :-

« Sanskrit / 1 [Option ID = 1523]

« pali/ Tl [option 10 = 1521]

el

« Apabhramsha / [Option ID = 1522]

« Ardha- Magadhi /M' T [Option ID = 1524]

3) Which one of the following is NOT a root of New Public Service Theory?

TN A Bl Ta-el1e gl & 4o 76l &

[Question ID = 392]

1. Theories of Democratic Citizenship / AT AT & ﬁECH' [Option ID = 1565]

2. Models of Community and Civil Society / HHar 3R ARG A S U [Option ID = 1567]

3. Organizational Humanism and Discourse Theory / TSATcHb | T {3ﬂ1 HeIg gl [Option ID = 1568]
4. Public Choice Theory/E T 2 | glc [Option ID = 1566]

Correct Answer :-

« Public Choice Theory/E T <1 ﬁ’@.’i‘ﬂ [Option ID = 1566]

4) Who has emphasized on ‘Paradox of Representation’ in India?

‘ufdfifee &1 farumimr foea ufamfea far
[Question ID = 405]

1. Suhas Palshikar / 5; et [Option ID = 1620]
TaTd W e

2. Pratap Bhanu Mehta / [Option ID = 1617]
3. Yogendra Yadav / lTs: dred [Option ID = 1619]

4. MV Pylee ;) Tl TR (60000 10 - 1618)

Correct Answer :-

« Yogendra Yadav / 9T 18T [05ti0n 1D = 1619]



5) Who has traced the evolution of BJP in terms of oscillation between moderation and militancy?

MR SaT UTe & faesmrasnur memnt 319 301 & aleq & gef i fasa faféq fasare
[Question ID = 406]

et Stoel

1. Christophe Jaffrelot / [Option ID = 1622]

el

2. Katherine Adeney / [Option ID = 1624]
3. Rajni Kothari / Wit T [Option ID = 1621]

4. Yogendra Yadav / I a1ed [Option ID = 1623]

Correct Answer :-

« Christophe Jaffrelot / : : [Option ID = 1622]

6) Which among the following options proves to be the primary point of difference between analytical political theory and critical political theory?

T fapedl & § 7 faeorsATars Terifdes fGgha qem ATaraargs Terifds g s
after fawrg 3 wrerfries fagai ol qerfdt €2

[Question ID = 379]
Iqed W I FE T
AAEE

2. Epistemology / [Option ID = 1514]

1. None of these / [Option ID = 1516]

3. Ontology / [Option ID = 1515]
4. Methodology / 1 9810 [0ption 1p = 1513
Correct Answer :-

« Methodology / a;rzfqgﬁ [Option ID = 1513]

7) Import Substitution Industrialization ISImodel was first applied in:-

T ufdeeoe Aieieor UfaHE G uee wel A
[Question ID = 390]

IBTET

1. Africa / [Option ID = 1559]
2. Iceland / EROE [Option ID = 1557]

atfest amfiT
3. Latin America / [Option ID = 1560]

4. East Asia / ‘Fﬂ:@m [Option ID = 1558]
Correct Answer :-

« Latin America / [Option ID = 1560]

Ueideted dge T ufaurfed faar
[Question ID = 409]
sfaeisdta Tey @ ereffis fagia

1. The Philosophical Theory of International Relations / [Option ID = 1636]
2. The Social Theory of International Relations /3IE { 5‘3 i T UMt f\EIE.'I—cI [Option ID = 1634]
3. The Political Theory of International Relations / f i'l SERERRIELICET &l [Option ID = 1633]

4. The Economic Theory of International Relations / [Option ID = 1635]

Correct Answer :-
« The Social Theory of International Relations /3 CR i]!] SEEEIRIGIE EEﬁﬁ."IH [Option ID = 1634]

9) "A supposition or proposed explanation made on the basis of limited evidence as a starting point for further investigation.” Which one of the following best captures the
above?

fAefafad 0§ 3 fobaepr 32l @ “3mml 3wt & w2 g & wu o Hifiia grea & 3mm
W B ¢ ATIfAA e wdTfdd @men”?

[Question ID = 369]



1. Central question / 1wl [Option ID = 1473]

2. Regression / [Option ID = 1476]
FEg wgfd &1 A1

3. Measure of central tendency / [Option ID = 1475]

4. Hypothesis / [Option ID = 1474]

Correct Answer :-

« Hypothesis / [Option ID = 1474]

10) According to Robert Cox, world order is shaped by:-

iaE BT B ITAN fdeq-saaven &1 3R fafafea & fa & i &2

[Question ID = 408]

1. Ideas, Diplomacy and Institutions /

2. Production, Power and Ideas /35 T, ?Iﬁﬁ am fee [Option ID = 1630]
3. Production and Ideas /3E Tie 3R fe=m [Option ID = 1629]

4. Institutions, Production and Ideas / [Option ID = 1632]
Correct Answer :-
« Production, Power and Ideas/35 et, ffert 3 far= [Option ID = 1630]

feme, efifd 3R e [Option ID = 1631]

11) What Panchayts are for India, Kibbutz are for?

HRd & AT SR U9 2, et & Telq @ &2
[Question ID = 385]

1. Indonesia / SSMIRMET  [option 1D = 1540]
Elics

2. Brazil/ 7 [Option ID = 1537]
3. Italy / EEEI [Option ID = 1538]
4. Israel / gse [Option ID = 1539]

Correct Answer :-

o Israel / goIde [Option ID = 1539]

12) Dependency school emerged as a reaction to:-

TiSyerem Jumm, fasres yfafseam & %y 1 3
[Question ID = 389]

1. Historical Materialism / I € ¥
2. Civil Society / e U] [Option ID = 1556]

IYfAHATaTE gfeeesron

3. Modernization Perspective / : [Option ID = 1555]

/mlﬂﬁiﬁrﬁ

[Option ID = 1553]

4. Dialectical Materialism [Option ID = 1554]

Correct Answer :-

HYFarard gfeesror

« Modernization Perspective / d [Option ID = 1555]

13) Basing conclusions without any bias and value j is

ST ot geruTa qT Gob-udEdl W ATHTRG 15y & Fad &

[Question ID = 372]

o ALl -
1. Objectivity / [Option ID = 1488]
2. Multi-centric /ag_ [Option ID = 1487]
3. Specificity /i\‘ﬁ [Option ID = 1486]

4. Relativity / STIET [option ID = 1485]
Correct Answer :-

e AL .
« Objectivity / [Option ID = 1488]




14) is the final step of Research process.

oivy ufdear &1 affa aor )
[Question ID = 366]
1. Collection of Data /11281 PTHBT 00 1p = 1462]
HUTE T HpelteBaoT
2. Editing and Coding / [Option ID = 1464]

3. Verification/ Rejection of hypothesis /!'I?EEEF! BT T/, T [Option ID = 1463]
) R FBI0T (00 10 = 1461

4. Formulation of a problem

Correct Answer :-
« Verification/ Rejection of hypothesis /‘\q'asal:l: EaR:C q:|;3.uzi +0 [Option ID = 1463]

15) Taylorism is a theory of management that does NOT:-

T ey &1 e Risia ¥, S e pvar @

[Question ID = 395]

| PTAVATE 1 fTeeuor AR AR (65400 1D = 1577]

ST TR Y AR S (oars) [Option ID = 1578]

3. Attempt to apply science to the engineering of processes and to management /W 3ﬁ'\' ‘;'Iﬁo"ﬂ'l:‘cﬁ * }ﬁm w ﬁE!'FI Zl-fl F‘I'I"lm AN
MFefep FRIGRITAT ST QURAT (T8 B J Tofgd ITehn)

4. Improve economic efficiency specially labour productivity / [Option ID = 1580]

1. Analyse and synthesize workflows
2. Develop informal communication grapevine /

[Option ID = 1579]

Correct Answer :-

« Develop informal communication grapevine / * ( ¢ ) [Option ID = 1578]

16) Bibliography means:-

TerTgeR 1 3 &
[Question ID = 368]
1. Biography/Gi -t [Option ID = 1471]
2. Quotations /m [Option ID = 1470]
3. List of Books referred /
Teffd gert 3 G [Option ID = 1472]
4. Foot Note / T RTMOT 1600 10 - 1460]
Correct Answer :-

. List of Books referred /

Teffd qeae! @1 It [Option ID = 1472]

17) Who distinguished between Political Asymmetry and Constitutional Asymmetry?

Tt 3T 31 v 3rmar & S B 3T S E?
[Question ID = 404]

1 _[Option ID = 1615]
el 2o [Option ID = 1614]

1. Louise Tillin /
2. Charles Taltron /

3. Ronald Watts / e L [Option ID = 1613]
Higdhel dlewiy
4. Michael Walzer / [Option ID = 1616]

Correct Answer :-

« Ronald Watts / AT <H [Option ID = 1613]

18) Who argued that comparative politics was parochial since it focused solely on the experiences of Western Europe; Descriptive rather than Analytical, Formalistic and
Legalistic and that it highlighted individual case studies rather than comparisons of two and more societies?

v ad o o garmers Ieify Sl R, =i ae off e @ ufdnft gRiu & srpvel R $fa f; fRduonas & s auiAres; shuaiRe iR duardt 6, ok g7 &) ok aiftres T
P IAT S T, AfRATT THRISH S AT W A 1 82

F) R 9EE

@) Swiad AR Rig

) SHTeS T

w) g AfpfEa



[Question ID = 388]
1. Neera Chandhoke / :ﬂ?T [Option ID = 1549]
il [Option ID = 1551]

3. Ujiwal K Singh /310¢1 Pe i [Option ID = 1550]

2. Donald Trump /

1
4. Roy Macridis / [Option ID = 1552]

Correct Answer :-

T Aefeq
« Roy Macridis / [Option ID = 1552]

19) Who among the following is associated with the concept of 'Complex Interdependence'?

fAafdfEd ¥ & 1 a1 SIfee Trer fedr ST Haemon & Ss1 g &

[Question ID = 410]

1. Martin White ; TET SBTEE & [0pti0n 10 = 1639]
2. Bary Buzan /a-"ft a H [Option ID = 1638]

3. Muhammad Ayoob / 1
e FE

[Option ID = 1640]

4. Robert Keohane / [Option ID = 1637]

Correct Answer :-
« Robert Keohane / ! Fel [Option ID = 1637]

20) Who among the following is primarily associated with the acceptance theory of Authority?

T Y Wifa figha & gre e § F S g By I Gefta &2
[Question ID = 397]

Egsikiac

1. Henri Fayol / [Option ID = 1586]

2. D.Mc Gregor /30[° el [Option ID = 1587]
3. Chester Bernard /

THollo Tlale
4. M P Follet / [Option ID = 1588]

[Option ID = 1585]

Correct Answer :-

o Chester Bernard / LI [Option ID = 1585]

21) Who among the following political theorists can be labelled as a ‘Resource Egalitarian'?

e 7 I ey Trorifaes figiaes it & WU Tdmardy’ Sl o Uebar &2

[Question ID = 403]

1. P.J. Proudhon / WloSto yifeY [Option ID = 1609]

2. John Rawls / T I 105400 1D = 1610]
meghe e

HTgehel oot

3. Michael Sandel / [Option ID = 1611]

4. Michael Walzer / [Option ID = 1612]
Correct Answer :-

« John Rawls / ST 10000 1D = 1610]

22) Who among the following advocated 'Catch All Party' model?

T A T TfTEl St UfanT $1 aebTed H1?

[Question ID = 400]

fefadie AR 3 [Option ID = 1599]
2. Moisei Ostrogorski / ; ii [Option ID = 1597]

3. Otto Kirchheimer / el § [Option ID = 1598]

1. Lipset and Rokkan /

foratart gRard
4. Giovanni Sartori / [Option ID = 1600]



Correct Answer :-

+ Otto Kirchheimer / S1E1 PRMEAY 1 v 10— 1508]

23) Who is the author of ‘The Structure of Scientific Revolutions'?

G TR 3T WAt Rafege~a & wad B &2

[Question ID = 370]

1. Thomas Kuhn / EE‘T [Option ID = 1479]
BEieth B

2. Rudolf Carnap / [Option ID = 1480]

Pl UTH

3. Karl Popper / [Option ID = 1477]

Uiel SpaTaE )
4. Paul Feyerabend / [Option ID = 1478]
Correct Answer :-

« Thomas Kuhn / &1 [Option ID = 1479]

24) Who is the exponent of the ‘Fourth Wave of Democratization’?

aratfn B <eft et & ufdures S &2
[Question ID = 387]

1. Samuel P. Huntington / IH vel dte EIE < [Option ID = 1545]

2. Lloyd Rudolph and Susanne Rudolph /(T'ITIE bsetb el g"-;l 185t

3. Partha Chatterjee /t”eIT f [Option ID = 1547]

IR o A B T

[Option ID = 1546]

4. None of these / [Option ID = 1548]

Correct Answer :-

« None of these F‘Tﬂ?ﬁl LR ?ETg qﬁ [Option ID = 1548]

25) What does the comparative method in research entail?

ol o gel-TcTs Ugld &1 @ afiurg &2

[Question ID = 374]

1. Deciding which participants get the highest scores. / ae fuiit SUCEEEIE EUTIY 3T 3 YT el @ [Option ID = 1495]
2. Contrasting the findings of two different studies. / e i1 spezadr & fepuf & afdle [Option ID = 1493]
1 1 1fie fama & ek & me gornarddT

3. Making comparisons between the findings from two or more different cases in a study. / [Option ID = 1496]

fafi=1 arearT & 3t & gerr

4. Comparing the outcomes of several different studies. / [Option ID = 1494]

Correct Answer :-

a1 ar afeiep fawal & el &b wea o

« Making comparisons between the findings from two or more different cases in a study. / [Option ID = 1496]

26) Who said that ‘Man is not for religion, religion is for man'?

“31TeHt v o e 7€, wf smerht & fow 27, ug feuy wer &2

[Question ID = 382]

1. Aurobindo / I =l [Option ID = 1526]

k)

2. Phule / [Option ID = 1528]
3. Ambedkar / TShY [Option ID = 1527]
4. Vivekanand / ﬁw [Option ID = 1525]

Correct Answer :-

« Ambedkar / ELEE [Option ID = 1527]

27) Reasoning from general to particular is called:-

A A fafeee 1 3R arffewar wn Feard 22

[Question ID = 365]



1. Induction / HITHATHRAT [Option ID = 1457]

2. Experience / 7 [Option ID = 1460]

o FATETATEdr ,
3. Deduction / [Option ID = 1458]
4. Observation /3IEIEI P [Option ID = 1459]

Correct Answer :-

« Deduction / TTHHTe T [Option ID = 1458]

28) Ernest Haas is associated with:-

3 T &l ey A E:
[Question ID = 411]
1. Economic theory of imperialism / HIH 11 T mﬁ@ﬁ [Option ID = 1643]

2. Functionalism / [Option ID = 1641]
TR
3. The cultural theory of imperialism /

4. Neofunctionalism /:Wm [Option ID = 1642]

[Option ID = 1644]

Correct Answer :-

+ Neofunctionalism /79 HPRIAI&  [ontion 1D = 1642]

29) In the eyes of a radical feminist, gender equality can be achieved through:-

HYA-URAdAaIE! TRdTE & HJIR S8 THHAT B3 UId fdar ST Tebar 82
[Question ID = 414]

it swifd

1. Class struggle / [Option ID = 1656]

2. Gradual reform /a;fﬁas;gun [Option ID = 1653]

T 1 et & [Option ID = 1655]

Afie & wfeies nfgansi &1 faurfdesr ¥ ufdfifia

3. Challenging patriarchy /

4. Getting more women elected in legislatures / [Option ID = 1654]

Correct Answer :-

« Challenging patriarchy / 1 @ d & [Option ID = 1655]

30) Consider the following statements:-
For Gramsci, Civil Society is the arena of

1. Consent over Coercion
2. Hegemony over Domination
3. Leadership over Power
4. Reconciliation over Struggle

Which of the statements given above is/are correct?

fFrafafed o w® R & :

IRl & g, RS qH BT a7 R,

1. 9aNE & S WAl

2. MY & SR gaerar

3. AR & FW A

4, Tud ¥ HWR gag
IRREmHEAAPTa A, 98 2

[Question ID = 413]
JRUADELL [Option ID = 1649]
2.1,2 and 3 only / ), i) e iii)
Fdel iv)

1.1,23and 4/
[Option ID = 1650]
3.4only/ [Option ID = 1652]

4.1and 2 only /arq?[ i) ae ii) [Option ID = 1651]
Correct Answer :-

e 1,23and 4/ D, i), iiD) T iv) [Option ID = 1649]

31) Which of the following is NOT correctly matched?

T fapedl 5 & Ry fasersaTars werifde fgia dem A=A Jeifds Agd &
e fonYe & wrerfiies g &1 gofdt €2



[Question ID = 53421]

1. R. Ambedkar: Who were the Shudras? Ef!omo 2R [Option ID = 93669]
2. Veer Savarkar: Hindutva ;’ﬂ-" WY & ggi [Option ID = 93671]
STATEYcTTel JE® = Tl 366

3. Jawaharlal Nehru: Geeta Rahashya [Option ID = 93672]
4. Gandhi: Hindi Sawarj M1 FE&RRIA 10000 15— g3670)
Correct Answer :-
ATl 486 = Mar &8
¢ Jawaharlal Nehru: Geeta Rahashya [Option ID = 93672]
32) Society ich the following and select the correct pairs -
Scholars - Ideas/concepts enunciated -

1) Paul Brass 1 Party - Society

2) Kanchan Chandra ii. Political  Society

3) Dwaipayan Bhattacharya iii.  Institutionalized Riot System

4) Partha Chatterjee iv.  Patronage Democracy

FrefefEd i 3 3R o idt =3
fagm yfdurfed fer=my/arauron
1. 9Tt 5 i) uréT-amTSt
2. ddq da i) Yretifds wursr
KRG ERUIER MBI ] i) T2 E ot

[Question ID = 399]

landiii;2andiv;3andi;dandii / 13 iii, 2 3R iv, 3 3, 4 20

1. [Option ID = 1595]
landu;2and1:3 andi; 4 and v /13ﬂ?ii,23ﬂ?ﬁ,33ﬂ¥iﬂ,43ﬂ?iv
2. [Option ID = 1596]
landiii:2andi:3andiv:4and i/ 130 ii; 2 31T i: 3 3T iv; 4 3l i
3. [Option ID = 1593]
landi;2andiv ;3 andiii:4andii / 130 % 2 3T iv, 3 3 iii, 4 3N i
4. [Option ID = 1594]
Correct Answer :-
landiii:2andiv:3andiz4andii / 13iii, 2 3 iv, 3 3R, 4 3 i
. [Option ID = 1595]
33)
Match List T with List TT
ListI List 11
a) Michael Foucault 1. Knowledge 1s power
b) Robert Cox 2. Struggle for power
¢) Hans Morgenthau 3. Where are the women?
d) Cynthia Enloe 4. Theory is always for someone and for
some purpose
a1 2 g 2 @ e
g1 gl 2
a) fAoid Gl 1. A 5 T
b) T4 Rl 2. TITel B g1
©) &4 nifelt 3. A AR fam
d) fiferar gret 4. Jud 1 ATt ®R THaT 8 B T Ut

[Question ID = 412]

1. [Option ID = 1646]



3
2. [Option ID = 1647]
A B { D

4 3 1 2
3. [Option ID = 1648]

A B C D

4. 2 4 3 L [Option ID = 1645]

Correct Answer :-
A B c D

1 4 2 3
. [Option ID = 1647]

Match the following and select the correct pairs :

Scholars : Books -
1) Myron Weiner i India against Itself : Assamn and the Politics of Nationality
2) Kanchan Chandra i Sons of the Soil : Migration and Ethnic Conflict in India
3) Christophe Jaffrelot i Why Ethnic Parties Succeed - Patronage and Ethnic Head Counts in India
4) Sanjib Baruah . The Hindu Nationalist Movement mn India

e & e Y 3k ad od o

fagr Tk
1) AT i) $fEaT W2 gede: JON QUE Z Uifelfy 37 Jorferdr
2) de T ii) T 377t & Wer: Wgher Vg Cefie fteae g gfgar
3) feh eI SHipeiie iiii) arg veifes urdlor werdte: Yoot us vafis 28 Sricy g §fear
4) Hofla TH31 iv) & fég Yemfeie mai= g sdhar

[Question ID = 402]

landii;2andiii;3and iv;4andi / 130 ii, 2 3 iii, 3 3N iv, 4 3R
1. [Option ID = 1605]
landiv:2andiii;3andi;4and i/ 131 iv, 2 3R iii, 3 3R &, 4 3R ii
5 landi:2andii:3andiv:4andiii/ 1300, 2 30ii, 3 3 iv, 4 A i

o landii:2andiii: 3andi:4andiv,/1 AN, 2 3 il 3 AR H 4 AR v

[Option ID = 1608]
[Option ID = 1606]

[Option ID = 1607]

Correct Answer :-
landii;2andiii;3and iv;4andi / 131 ii, 2 3R iii, 3 3 iv, 4 3R
. [Option ID = 1605]
35) Match List I with List II Select the correct answer from the codes given below.
List-I List-I1
a. Herbert Simon (1) Dynamic Administration
b. M.P. Follet (i1) Human Problems of Industrial Civilization
c. Elton Mayo (i1i) Fundamental Research in Administration
d. R Likert (iv) New patterns of Management

et 1 3R g 2 B v A Ry g e @ W SR Gy

eil] I 2
a) ge¢ WIgHd i) fdene weme
b) THette Hiete ii) 3itentfites Arifiesar & wrdta TR
©) Yoo WA iii) weme ¥ s
d) AR fdsd iv) HEHHT & 7Y aidlh

[Question ID = 393]
(a) (®) (c) (d)

L@ O @ @

[Option ID = 1571]
(a) (b) () (d)

5. () (v W @ [Option ID = 1572]



(a) (o) © ()]
3@ @) @ ) o600 10 = 1570]
(a) (b) © (d

4 @ @) @ G oron o = 1569]
Correct Answer :-

(@ (b} © @

(CVN VN GV €] [Option ID = 1571]

Match the following and select the correct pairs :
Scholars

1) Samuel Huntington

2) Barrington Moore

3) Juan Linz and Alfred Stepan

4) Lloyd Rudolph and Susanne Rudolph

fFerfeifEa A et ¥ 3R G S g
fagr:
1. #ue €femey
2. e gy
3. S felt 31 Yedpe whua
4 WITg B5e% AN Yo S5

[Question ID = 401]

landiii:2andi:3andii: 4andiv [ 130iii; 2
1

, landiv;2andiii;3andii;4andi/ 1 37N iv; 2 3R ii; 3 AR ii; 4 3R
R landiii:2andi;3andiv;4andii / 130 iii; 2 3 0; 3 3 iv; 4 3

landi1i;23nd1v;3andi;4andii/ 13023 iv- 3 At 4 e i
4. ’ ] £l

Correct Answer :-

Landiii:2and iv:3andis 4andii / 1 3l i 2 3R iv; 3 3R i; 4 3R i

Books

i Problems of Democratic Transition and Consolidation : Southern Europe, South America and Post-Commumst Europe

1. The Modernity of Tradition : Political Development 1n India

i1, Political Order in Changing Societies

iv.  Social Origins of Dictatorship and Democracy : Lord and Peasant in the Making of
the Modern World

%%ammmﬁw:ﬁsmzmmmw‘ T3¢ 3MRHT ¢ g
SR g
ii) & HIsfé 3Tt &dlem: UTfddlee Sdeul- g sfsar
iii) difafesa 3T g7 Af<m GaEds
iv) e T~ 3ith feerefer T ik oifs s diste g < Afdh 377w & wisd
des

3t i3 3 43 v

[Option ID = 1602]
[Option ID = 1604]
[Option ID = 1601]

[Option ID = 1603]

[Option ID = 1603]

37) Michel Foucault conceives power in the form of 'Capillaries'. What does he mean by the concept?

Ardrer et 2rfat Y “BleBTT &6 B N UM €1 39 HebouT I 37T T fiy &2

[Question ID = 377]

1. Power is one dimensional /Qm Y- [Option ID = 1508]

2. Power produces identity and subjectivity /

orfa ugd 3R @fdIuResar #1 3afea st &

[Option ID = 1507]

3. Power emanates from the state / affere T & ficperdt & G40 [Option ID = 1506]

Tt SHABRT &

2
4. Power is repressive / [Option ID = 1505]

Correct Answer :-

« Power produces identity and subjectivity /

offd Ug=TH 3R @AfdIiesar & Ianfed &l & [Option ID = 1507]

38) Who among the following has coined the term 'Silent Voters'?

et o 3 e “arger< diesd ofsq &t i faar 2

[Question ID = 384]

1. None of these / & Lk ZET'g t :TS'T [Option ID = 1536]
2. Rommel and Parkin / et a2 W [Option ID = 1535]

dlet ARR [Option ID = 1534]
offf srmE

3. Peter Mair /

4. Larry Diamond / [Option ID = 1533]

Correct Answer :-




« None of these / & LK ?FTg Bl [Option ID = 1536]

39) Who among the following first gave the idea of job enrichment in the organization?

Wﬁﬁﬁq@ﬂ:ﬁa@#ﬁmﬁﬁﬂaﬁﬁﬁmﬁmm o2
[Question ID = 396]

1. Abraham Maslow / fsiTen 1 f [Option ID = 1582]

oo anfitem
2. Chris Argyris / [Option ID = 1584]

SO BB

3. Douglas McGregor / [Option ID = 1583]
el gofart [Option ID = 1581]

4. Frederick Herzberg /

Correct Answer :-

« Frederick Herzberg / el efan [Option ID = 1581]

40) Which of the following options best captures the definition of liberty for the ancients as articulated by Benjamin Constant?

fFafefEd % & S5 & fdeca St Siaé< gRT Ufduiied Td=dT & U< figid &
Ifiepan TolelF &

[Question ID = 375]
I ﬁ_‘qmglﬂ:@ [Option ID = 1500]
2. Liberty as laissez faire / RECH QTGCIEET e &TEI :ﬂﬁ FoqH [Option ID = 1497]

3. Liberty as participating in the affairs of the state / WA T % Al Ml it & o [Option ID = 1498]
WdAd] Wcdgld Afdadig & o9 §

1. None of these /

4. Liberty as possessive individualism / [Option ID = 1499]

Correct Answer :-
« Liberty as participating in the affairs of the state / T I & et 7 wenrft & wu [Option ID = 1498]

41) Which one of the pairs is incorrect?

Frafaf@d <vg o 4 &b 91 1ed €2
[Question ID = 386]

1. Boiling Pot- Tsrael / SN W€ = FSNIFT (00000 1p = 1543)

2. Salad bowl- India / S1ene 3¢l & WRA o600 1p = 1541]

uie @ gk
3. Cooking Pot- UK / [Option ID = 1544]
4. Melting Pot- USA / * e die = qeaw [Option ID = 1542]

Correct Answer :-

« Cooking Pot- UK / ) [Option 1D

42) A formal organization is mainly concerned with:-

Tep IiUnfie e e ®U A 3O A4t ¢

[Question ID = 394]

1. Service to society / TSt 1 &t [Option ID = 1575]

Bl o™
2. Profitability of enterprises / [Option ID = 1574]
3. Satisfaction of organizational members/! s wewl F1 Hdred [Option ID = 1573]
et & i Tt Hey

4. Harmonious relation within organizations / [Option ID = 1576]

Correct Answer :-

« Harmonious relation within organizations / & T [Option ID = 1576]

43) Between whom did the Instrumentalist-Structuralist debate on the nature of the capitalist state take place?

Goftart U= 1 Hid T IS TITE faaTe {1 e gam?

[Question ID = 378]



T fafeias derm o teemr
e s de ey uterrsn

2. Ralph Miliband and Nicos Poulantzas / [Option ID = 1510]

el AT a7 el T=ted

3. Karl Marx and Friedrich Engels / [Option ID = 1512]
dlo3go AR FRl T AT 60000 10 = 1509

1. Ralph Miliband and Louis Althusser / [Option ID = 1511]

4. V.I. Lenin and Rosa Luxembourg /

Correct Answer :-

e fferd-e e frem uiars

« Ralph Miliband and Nicos Poulantzas / =~ [Option ID = 1510]

44) The Vienna Circle was a group of intellectuals.

fawaT et fa fagHT &1 ag ar?
[Question ID = 371]
for-aTa aTRraTe & fawg ueefT faan [Option ID = 1481]

1. Who organized protest against communism /

2. Who took upon themselves to criticize Nazism /ﬁ%ﬁ :I'l\_rﬂ'ﬂﬁ ﬂ?l 3]1311?4:" Eﬁ [Option ID = 1483]

3. Who subscribed to cultural relativism /ﬁa’ﬁm}zgﬁ?ﬁ m&iﬂﬁﬂff gLl [Option ID = 1484]

4. Whose philosophical position could be described as logical positivism /ﬁ:ﬁﬁ aRife Feeifd 61 e anfda WIGHTe & B9 1 F S 3 [Option ID = 1482]
Correct Answer :-

« Whose philosophical position could be described as logical positivism /ﬁ:ﬁﬁ arifias feafd 6 amen atiba W& & H o Fr ot webdt 3 [Option ID = 1482]

45) The principle of ‘Making some people better without making other’s worse’, is associated with which one of the following:-

SR 2P 0 TG T, B8 ST Y gad S 1 R B o O R waifed @2
[Question ID = 383]

TYeT I gEdaddr

1. Pareto’s optimality / [Option ID = 1531]

2. Foucault’s Governmentality / = _ [Option ID = 1529]
3. None of these /37-1' LE] EEE 1ﬁ :lﬁ [Option ID = 1532]

4. Gramsci's hegemony / L [Option ID = 1530]

Correct Answer :-

« Pareto’s optimality / A B SRLLl [Option ID = 1531]

46) The Gang-Plank refers to:-

WA Gelveh” T AU €
[Question ID = 398]
WA W GeghH BT ILehHOT FHT

1. Following hierarchy in Communication / [Option ID = 1592]

fAuTa &1 Barawtor

2. Centralization of Decision / [Option ID = 1589]

3. Level jumping in the organizational Communication / 1A HR H FR-eTH [Option ID = 1591]

T H ga-FAmior

4. Team-building in the Organization / [Option ID = 1590]

Correct Answer :-

« Level jumping in the organizational Communication / ST TR B T -eTe [Option ID = 1591]

47) The first purpose of a survey is

[faror BT Wery 3297 g &

[Question ID = 367]

- CRIC .
1. Evaluation / [Option ID = 1468]
TS BT

2. Provide Information / [Option ID = 1466]
3. Description / [Option ID = 1465]

THROT
4. Propagation / i [Option ID = 1467]

Correct Answer :-

AT U &31
« Provide Information / [Option ID = 1466]



48) The New Public Administration is considered as Anti-Positivist which means:-

Tq-c1ich WA bl HI&MdTe, -faRie! 71T Srar 21§31 Hdeld &
[Question ID = 391]

1. It advocates for social change / g arfies ufiad 1 amels ddl 8 [Option ID = 1562]

Wik UM T 3R] AERH
2. Meaningful studies in Public Administration / [Option ID = 1564]

TSI THAT b oAl T2 1 3829 0T &

3. Realization of social equity as the purpose of Public Administration / [Option ID = 1563]

e Yod FTler < BU o dlid e &Y ufimeT &1 3disd oaa &

4. It rejects the definition of Public Administration as ‘value free’ /

[Option ID = 1561]

Correct Answer :-

« It rejects the definition of Public Administration as ‘value free’ / e H?ﬂ & FHqT TR & * g

[Option ID = 1561]

49) The Neorealist assumption of Robert Gilpin regarding the foundations of war is based on:-

T fTerfi 1 79 Geqrelardd uon 1§ gg & YeltR &y v amuriid &2
[Question ID = 407]

I B @RIl g 1 faeara [Option ID = 1626]
TER T H Tqd &1 HT Ty R (U0

2. State's assessment of its neighbouring State’s leadership capability / "~
el faTam &1 e mehiam

3. States urge for economic expansion / [Option ID = 1628]

Tk A & I G T Y rferd 1 Frafeor

1. States confidence in its own power capabilities /

[Option ID = 1627]

4. One State's assessment of another State's power / [Option ID = 1625]

Correct Answer :-

U I & G G g FY eife &1 Frafeor

« One State's assessment of another State's power / [Option ID = 1625]

50) Research conducted to find solution for an immediate problem is

dlcebTieies YT & YHTHT & f3ar S arel 2y
[Question ID = 373]

faeeToT offy

1. Analytical Research / [Option ID = 1490]

2. Survey /Qﬁ&{tIT [Option ID = 1491]
3. Fundamental Research / " f QHT:I

febarefiel 2y

[Option ID = 1492]

4. Action Research / [Option ID = 1489]

Correct Answer :-

ERIEIGEE]

« Action Research /




